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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q1 & & i Tos ofF (Problem figure) BT 70 a7 5=7 fasodt (Answer

figures) & T v # Wi 1 TAT T ORY (Problem figure) SHieslica L neaasn e

- o E* - Status ; Answered
Chosen Option ;4

Problem Figure

Answer Figures

g

The below problem figure is embedded in one of the four answer figures. Which of the
following figures contain the problem figure?

Problem Figure

1.1

Answer Figures

T

X2B
XA
X4cC

@2 23- [24-{25- (26-27-28)}] =7 Question 1D - 9864492659
23 - [24 - {25 e (25 _ m}]l P Status : Answered

Chosen Option 3
Ans 11

Ans

Q.3

Cuestion 1D ;9864494205
Status : Answered
Chosen Option : 2
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Select the missing term based on the given related pair.

ﬁ@:l‘my ::%:?

Ans x-. Child
o 2 caterpillar
& 3 Kitten
X 4 Larva

Q4 Jfr tan*6 + tan’6 = 2 & AT secd - sec’d =7

If tan*@ + tan’® = 2.then sec*d - sec’@ =7

Ans of 1 2

Question 1D
Slatus

Chosen Option :

19864492937
:Not Answered

X 21
X30
X3

Q.5 769 & off Fww o Feen & 12 # Tonfas & o = G ofe
o Y

A sum of T 69 was divided between Jason and Ruhana in the ratio 1 : 2. How much money
did Ruhann get?

Question 1D
Status

Chosen Option :

19864492645
s Answered

Ans & 1 F A0
X 23%45
X3323
v %46

Q6 wiw o7 #7 I TrTaTEw Wit i aEhte w1

T, JEir, R
Which of the following Venn diagrams comectly represents the following classes:

Question 1D
Status
Chosen Opfion

- 9864493735
TAnswered
14

Eagle, bird, cat
Ans

.

<09
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Q7 3w wi AR F 994 N, o AT & am # g v

QS

CQuestion |D : 9864494235
Status - Answered
Chosen Option ;2

Select the correct set that represents the following Venn diagram.

QLD
e W, R w
Music, sports, educated people
x , T freres, ama
Dancers. teacher, cows
v fAar, aRar
Mother. father, family
Cat. toys. girl

X

Q8 gumad A & o v hA gy Fow & w FH = sw—w .
AR FARE A T B, 8A 5 FIE W AT I9 s g fammr
el
The statue of Dr AP Abdul Kalam that was urnveiled at his Rameswaram memorial by

Question 1D ;9864492371
Status : Not Answered
Chosen Option : -

Prime Minister Modi depicts him playing which musical instrument?
Ans JEer

0
Tabla

X2 T
Mridangam

X 3 FraforeT
Tiolin

v Fom
Veena

Q.9 got & Tt & & @y =7 wwar § AR 7§ 7 T o w7
Which of the following can neither be created nor be destroyed?

Question 1D : 9864493601
Status : Answered
Chosen Option : 3

Ans x1 T]'ﬁ'
Momentum
v 3
Energy
x 5 AR
Power
x4 w

Velocity
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Question 1D : 9864493840
Status : Answered
Chosen Option : 2

If each of the vowels in the word *MEAT" is kept unchanged and each of the consonants is
replaced by the previous letter in the English alphabet. how many four-lettered meaningful
words can be formed with the new letters, using each letter only once in each word?

Ans x11
X24
Va3
Xa42

N gier o gEEfAsE ¥ T @ g

The chemical formula of Propane 1s:
Ans X 1 (, Hg

Cuestion 1D : 9864493192
Status - Answered
Chosen Option 4

v 2 CHg
x 3 ch.
< 4 CyHyg

Q12 & ¢ gafog S F 3uR X REg e ST

GULF : 519104 :: WINE :

Question 1D : 9864494015
Status : Answered
Chosen Option : 4

Fill in the blank based on the given related pair.

GULF:519104 : WINE:
Ans X 1.217321

V2217123

X 3217132

X 4217124

Q.13 T & ¥ 500 & T &1 3900 3R AT seie Tmaet F 9w o w e E
Fore i B s EAT

Which of the following indicators CANNOT be used for distinguishing between acidic
and newtral sohutions?

Question 10 : 9864493570
Status - Mot Answered
Chosen Option ;-

| T R

Universal indicator
R cicesicos
* Phenolphthalein
3 e 3=
Methyl orange
x 4 safaa

Eosin

Q.14

Question 1D : 9864494119
Status - Answered
Chosen Option : 4
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Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:

The government had planned to conduct special recruitment drives for doctors twice a
year for rural districts,

Assumptions:

1. There are more vacancies.
2, The government wants the neral people 1o get good health care,

pre x1ﬁﬁ?1étmn1 Heafatga 2l

Only assumption 1 is implicit.
7~ 2
o & qEuroer 1 R ar & qEurer 2 seafafea @

Meither 1 nor 2 is implicit.
74 fak qEurer 2 w=afafa 2
Only assumption 2 is implicit.
| 2 RO st

Both 1 and 2 are implicit.

X

Q.15 g o 2 o g Jor FfAe F 20, 25, 35 w40 3 Fanfas o= o 9w

14, 19, 20 3 34 TEATE| Question ID ;9864492443
Find the least number which when divided by 20, 25, 35 and 40 leaves remainder 14, 19, Status : Not Answered
20 and 34 respectively? Chosen Option - —
Ans X 11364
X 21384
X 31374
W 41394
Q.16 Erafafas su T T A
» o o Euﬁ' ﬁl Question 1D : 9864494053
Status : Answered
Chosen Option :3

wE AN FOFHW & OF g &
Complete the following sentence with the most appropriate option.

A disease always has

Ans
.4 1.GﬁEITE‘I



Xa.a Al
a cure

L

754 ST
a doctor

Q.17 #r Bt coamn & feew O s f s &9 o9 oF e § T S

Question |0 - 9864493722
aE & ve e 57

Status : Not Answered
Q@AIRI4-ETAWIO2 ESES Chosen Option ; -

How many such numbers are present in the below arrangement which are immediately
preceded by a consonant and immediately followed by a letter?

QIEAIRIA*STAWAOZ EL6S
Ans

Q18 FRY F wfeT 43 A & por & 39T fRar S g Question 1D :9864493620

The characteristic of 15 used in the breaking pads of cars. Status : Answered
Ans

v, 0T F FERHS T e
positive effect of friction
- YT T T TS
zero effect of friction
| T G o T Hr R
weight impulse force tension action

, TNOT I ASRIcHS THTT
negative effect of friction

X

x

Q.19 fmm & v ff¥as afy & 120 frmnier & g0 & I wefee @ 4 afg P
TF W He 2 Frdiet U AT AEfE 99§ 36 6 a9 8 nID:saEMEIBH
UESe # 3 W W 3w WA A e T A # et e Status : Not Answered
e ofy o & ofa & a9 Chosen Option : ==

Kishan cycled a distance of 120 km at a centain speed. 1T he cycled 2 kan slower every
Tioatr, hee would have taken 3 meore howrs to reach his destinateon. What 1s the speed m
kavh at which Kishan acteally cycled?

Ans o 4 12
V210
X8
X415

Q.20
Cuestion |D - 9864494234

Status : Answered
Chosen Option : 4
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A B c
Assuming that the nombers in each of the following figures follow a similar pattem. select
the option that can replace the question mark {7) in figure C.

m HE m

A B C
ans X137

xX2115

X326

v+ 36

el Fsrust e @ T 27
_____ is amphoteric in nature.
Ans ( I Zn0
X 2 N,0
X 3 Ca0
X 450,

Question 1D : 9864493483
Status : Not Answered
Chosen Option © —

Q.22 Tl weaie & Sl o= #T wEE 25 A A R R & w14
drT B FEE W AEEE = A
The length of each side of a rhombus is 25 m and the length of one of its diagonals is 14

m. Find the area of the rhombus.
e v 336 T3 HreT
336 m?
x 2 350 9T #Hrex
350 m?
xﬂ_l?sa'fr e
175 m?
o 168 T Hrex
168 m?

Question 1D : 9864492814
Status - Not Answered
Chosen Option ; -

a-2325n§{5 +4-3+2-1+3)=2

25-2(5+4—-(3+2-1+3)}=?
Ane. K422

X221

X3 23

W24

Question 1D : 9864492619
Status : Answered
Chosen Option : 2

QR U, VEIRELVIRW XA REE Y, X mAREAY,
W Lo

1 U s the busband of V", V" and “W" are daughters of “X°, *¥" is the bushand of X,

then “¥" is the of ‘U,

Question |D ;9864493641
Status : Not Answered
Chosen Oplion ;-



Ans

Q.25 frey & ¥ W UTq H1 WE TR AR F FeT A@ S wEA X7

Ans

Which of the following metals CANNOT be easily cut with a knife?

Question |D : 9864493231
Status : Answered
Chosen Option : 4

i TegHIATH
Aluminium
r - SUREE
Lithium
X 3 CIAEle e
Potassium
.
Sodium

Q.26 ofy ot arg 2o ST 1 78 g 9T 2, B 3 1 P e A

Ans

If the distance travelled by an object is zero, then the displacement of the object:

HeAlcHS

.

Question 1D ; 9864493059
Status : Answered
Chosen Option :1

is positive

o e & oY WehaTT 8, ey o
may or may not be zero

v
is zero

< 4.

is negative

Q.27

Ans

AT T A w0 S A 50 R s b iy
ver W i Fark 15 ST §@ | A & ol s

(g = 10 #AEy e T AEE)

Mohan, having a mass of 40 kg, runs up a staiscase of 50 steps in 10 5. If the height of

Question 1D : 9864493483
Status : Answered
Chosen Option : 3

each step is 15 cm, then what is his power?
{Take g = 10 m/'s%)

X 1 400 a1
400 W

. 300 are
300 W

5 200 T
200w

, 100 31
100 W




Q.28 pfaefhe axg & afdsr 3o (KE) fra ot el aeh #2
What does the kinetic energy (KE) of a moving body depend upon?
Ans x ot 3T m T
Weight and its position
2, 3t ar
Mass and velocity
X 3 S 3 cEor
Mass and acceleration
oA AR gHh T
Mass and 1ts position

754

Question 1D : 9864493402
Status : Answered
Chosen Option : 3

Q.20 s s ash et o s o s D o s m rw A S e T aam
#yfow A g I ST &

The prices of chairs and tables are in the ratio of @ : 5. If the chairs cost ¥ 4200 more than
the tables, Find the price of the tables?(in ¥)

Ans X 1. 6730
v 2 5250
X 35000
X 4 6200

Question 1D : 9864492585
Status : Not Answered
Chosen Option ; =

Q.30 B o W AEEE e w ir T T S R
Tratafem wwel & ¥ #t7 oure 2

o & fiems oIy aeiw Owe

T
1. #ao FufEa wedw dear §
2. &= # 20 wufEa AT 15 mEE §

Consider the given question and decide which of the following statements is sufficient to
answer the question,

How many students in the class play Chess?

Statements:
1. Omly girls play Chess.
2. There are 20 girls and 15 boys in the class,

o x1_aﬂ’im1 3R FuT 2 Ay FEF &

Neither statement 1 nor 2 is sufficient

X2
Fao FUF 2 e § F9F Faa Fua 1 FgdT §

Statement 2 alone is sufficient while statement 1 alone is insufficient
o T 1 AR Fa 2 At g §

Both statement 1 and 2 are sufficient
r
T FYF 1 9O § =0 a9 FuS 2 yuAT §

Staternent 1 alone is sufficient while statement 2 alone is insufficient

Question |0 : 9864493728
Status - Answered
Chosen Option ; 2

Q3 T 7 g X ¥ & R R & s @ 32
What is the type of Energy possessed by a stretched rubber band?

Ans
X 1 Taafas Far
Chemical energy

Question 1D : 9864493267
Status : Answered

Chosen Option :1




5, T 3

Kinetic energy
x o TEIfRRT 3l

Potential energy
v T e

Thermal energy

Q.32 v TANT & T & oF 7T i ofnd aftT o = I AT AR IUT T 60
3ty 300 #) T wAma F FanE s Fe E A eE B S Ae e
From the top of a building, the angles of elevation and depression of top and bottom of a

tower are 60°and 307 respectively, 11 the height of the building is Sm,then the height of the
Iovwer is:

Question 1D 9864492636
Status : Not Answered
Chosen Option : -

Ans X 1.104/3m
v 2 20m
X 3 5\3m
X 4 15m

O rafofla &t 39y faweT & a9 &

Question 1D : 9864494023
Status : Answered
Chosen Option : 4

529 : 441 : 961:
Complete the following with an appropriate option.

529 : 441 :: 961 :
Ans X 1835

X2 822

X 3814

v 841

Q.34 Fa?ﬁmmmﬁtaﬁmg#gun&hﬁma‘ﬁﬁt
Some of the energy derived from the food we eat is stored in the form of:

s TITEFRIST

Question 1D : 9864493216
Status - Answered
Chosen Option : 4

e
Glycogen

x 2 HAEAT HFA
Amino acids

X 3 AT
Glucose

?<4=ﬂ5$ﬁﬁsanqa

Pyruvic acid

Q.35

Question 1D : 9864493805
Status : Not Answered
Chosen Option ; =
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The table gives the details of the manber of students in Class 10 section A and B who had
taken mid-term and final exams.

What is the pass percentage in at least one of the two exams for section A (approximately
or rounded)?

Result SecA [SecB
Total mumber of sthedents who | 25 23
failed in both exams
Total numbser of students who | 14 12
failed in mid-term bt passed
in finals

Total number of stdents who | 6 17
passed in mid-term bt filed
in finals

Total mumber of students who | 64 33
passed in both the exams

ans of 1 75
X280
X 2 65
X470

Q.36 2016 &, =z #% i 3w g o T SR ve e teEEElEE
HrEE i mm gw see $r et e s B
In 2016, the State Bank of India launched a new product called *SBI Exclusif’, What is the

Question ID ;9864492428
Status ; Answered

Chosen Option : 2

financial nature of this product?
Ans m
8
Insurance

x 2 Hadt ST BT
Recurring Deposit Scheme
| 9 gauA
Wealth Management
LI BT HT qerH
Mutual Fund Offering

75 4

Q.37 mzd wo F unm # S F R wT AR A g e SOt @ Fte A
faemr 3 AT F e ST &Y

‘Which part of the female reproductive system prepares itselfl every month to recerve and
nurture the growing chitd?

Cuestion |D ;9864493598
Status : Answered

Chosen Option :1

Ans

1 3312 (Ovary)
Ovary



: @A (Vagina)

~
Vagina

X3 arsATerr T (Cervix)
Cervix

v arsterr (Uterus)
Uterus

Q.38 feghr ¥ am & oftde s e, st 2y safae siew = B s

AT & ANTHE ¥ FiE & 99 1A i

‘What will be the resistance of a wire across which, when 2V potential difference is
applied, 1A current flows through the wire?

Ans ‘f1 2 m
2 Ohms

, 0.02 A
0.02 Ohms

, 20 3EA
20 Ohms

, 0.5 3ER
0.5 Ohms

X

x

X

Question 1D ;9864493426
Status - Answered
Chosen Option ;4

9% guuit ¥ 7 I gHElF wRa AT

Which hormone is released from the testes?

Ans mm?
o
Testosterone
x oz 3
Insulin
X3 Ir
Estrogen
s AT
Thyroxin

Question 1D : 9864493557
Status : Answered
Chosen Option - 1

Q4 Rr i m A st red d st e e r

FUA T FHETT TF H HFEOT FIA F

T
F0 ¥ w7 §, ™ av www § 5T oW s

e

1. F werw B )

2. go F AN E
Consider the given statements to be truwe and decide which of the conclusions logically
follow(s) from the given statements,

Statements:
Some crows are peacocks, all peacocks are ducks. Some ducks are pigeons.

Conclusions:
1. Some ducks are crows.
2. Some pigeons are peacocks,

Ans O 4

Question 1D : 9864494374
Status : Answered
Chosen Option :3




a7 & sy 1 @ A 2 FFEr I B

Either conclusion 1 or 2 follows.

Faer A 2 HFEOT FIAT E
Only conclusion 2 follows.

3mmﬁ1aﬂrzm§wmﬁl

Both conclusions 1 and 2 follow.

Fae fard 1 IFEoT Har 2

Only conclusion 1 follows.

oz

X

W

Q.41 =iy AB 2901 ¥ o fw nr o ey fawwst (Answer figures) & & #ndr & m
g f 7l i of g

Question 1D ;9864493738
Status - Answered
Chosen Option : 3

A B 5] D

From the given four answer figures choose the comect mirror image of the below figure
when the mirror is on AB line.

Problem Figure

f

Ans ,’-, D

Q.42 2016 & w7 w ¥ v ofte o wedd oftem & sl S oy
It ¥
Which 2016 Hindi film is based on the real life of the famous Fhogat wrestling family?

Question 1D : 9864492143
Status : Answered
Chosen Option : 4

i e Harer 912 g usfEe
Mangal Pandey : The Rising

Q.43

CQuestion |D : 9864492154
Status - Not Answered



Ans

W HE & WO Ade WeATAied A F#iF W ST & 7 s
witwl (s £2

India-bom Satya Nadella is the Chief Executive Officer (CEQ) of which of the following

companies?

v HATSHIFFE
Microsoft

r .G THAT

Amazon

L)

Dell

Tl

' Google

XA

74

Chosen Option : -

Q.44 v wrgdy o Tawd wum P sudr SO F aver o wowmaa

Ans

TF A F e & T § g e & Remdt & s s

The volume of a right circular cone, whose radius of the base is same as its altitude, and
the volume of & sphere are equal. The ratio of the radins of the cone to the radius of the

sphiere is:
X142 :1
x21:1

CAR R
Xat.ﬁ:ﬁ

Question 1D : 9864492694
Status : Answered
Chosen Option :1

Q.45 nf Rl aguE Ok - 1x + kx + LU -3 Ak W AR R g

Ans

If ome of the zeros of the quadratic pobynomial (k — 1)x% + kx + 1 13 -3 then the vahse of

k=

751
¥ &
XA
75 4

i
o)

w|l

Question 1D : 9864492475
Status - Not Answered
Chosen Option ;-

Q.48

Ans

d EIF-U-SATEr I FUTTAT Fr o
founded Din-e- Ilahi.

CICES
Babur

Question 1D : 9864492089
Status : Answered
Chosen Option -4

QA7 afy 17 AT FF FTAFT T77° &, A S AT w9 AR () we afe

Ans

I the cost of 17 morc]mhisﬂ?%,ﬁnd its cost per meter (in rupees)?

5
X1-4;
2 4%
v 4=

Question 1D ; 9864492502
Status  Answered
Chosen Opfion ;2




5
Xﬂ?;

5
?(45;

Q.48

2 T AT B OF T v o i oS O & a2 Hoow my O
oSt W WE ST & 29F & o R 9T B 9T &1 R o o iy
GZasmmd R fivrast ot SRR e d g
| &

Question 1D : 9864492671
Status - Answered
Chosen Option : 3

Pipes A and B, when working together, can fll an empty tank in 8 howrs, ITB is stopped
afler 2 hours, it will take a total of 11 hours to fill the tank. How long would it take A o
fill the empty tank alome?

Ans -
X 1 13EE
13 hours
v? 126
12 hours
X, 160
16 hours
x4 15T
15 hours
Q.49 FF 7 cAEE few F o B = R O & o Few e

W b

Question 1D : 9864493847
Status - Not Answered
Chosen Option ;-

e

i ST & O WIRN A moe ware & bt Rt | v wew
7 T TEer w9 R

HeH:
1. ¥fFwET T FE A% S IE Aer £l

2, fifs A 0w a==f F vw FoAE F A o I e A e
Consider the argument and decide which of the given assumptions is'are imphicit

Argument:

With immediate effect, the government asked to shut down all the schools for one week in
the region due to severe cold wave,

Assumptions:

1. The cold wave may continue for one week.
2. Concerned parents may nof allow their children 1o attend the school after one week

also.
T 1 3 2 A e #
Both 1 and 2 are implicit
x2 7 F1drad2fRARa e
Neither 1 nor 2 is implicit
%3 waer e 2 fafea &
Only assumption 2 is implicit
o Fao wgAw 1 ARk &
Only assumption 1 is implicit
Q.50

Question 1D ;9864492450
Status - Answered



T 4 G A 240 fireiter ot o ae s ol seel o A 12 et l

Chosen Option -2

ufer eer Fr el v aeht B, o 450 Frereier Fr gl au s e e wag S

A Car can cover 350km m 4 hours, If ts speed 15 decreasad by lzghuph. Bow much tima
does the car take 1o cover a distance of 450km

Ans 5 ﬂ%‘

Q.51 fig & v S S 8% O W1 & &7 59 5% T W+ &
far =i & foae & &= ofgT o

Shiv sold 4 shirt for 7184 a1 a loss of 5%. To make a profit of 5% he should have sold the
shirt for:

Question 1D : 9864492648
Status : Not Answered
Chosen Option ;-

Ans: 1. £200
< 2%207.92
X 3 %197
v %210

52 1 - 5 3 AT Y GRIFCTT A W GRITAT ST Wbl 82

The ratio 1 : 5 can be expressed in decimal as:
Ans X 1.0.02

Question 1D ; 9864492461
Status : Answered
Chosen Option : 3

X201
V302
X 405

Q.53 vw wRay Tingsr ABC #1 W= 6 FERET §1 W7 1 T T A v g
M rdm R sar s i T F R w g #r =
e o Feag P e

ABC is an equilateral triangle of side dom. If a circle of radius 1 cm is moving inside and

Question 1D : 9864492638
Status - Not Answered
Chosen Option ;-

along the sides of the triangle, then the locus of the centre of the circle i an equilateral
triangle of side is:

Ars X1 (3+vV3)em
v 2 (6—2v3)cm
X 35cm
X 4 4cm

Q84 g ot & R A ¥ e TE A T e
Amphibian plants are placed in which of the following groups?

Question 1D ;9864493375
Status : Mot Answered
Chosen Option : -

Ans am
.

Thallophyta

shEwEer

Pteridophyta

I rinssres

Gymnosperms

o2

X3



v STt
Bryophyta

Q55 smyfas s wrol # o # sErn FE R A R E 7
How are elements arranged in the Modem Periodic Table?
Ans O 4
3T GIATY] WA F qed FA H
In the increasing order of their Atomic Number
N 2
AR HUIEF FSUAT & d8d FH H

In the increasing order of their Molecular Mass
3 IATY] FeAAA & qGd HA H

In the increasing order of their Atomic Mass
4
AP FOAH WEUT & Fed FH H
In the increasing order of their Mass Number

W3

Question 1D ; 9864493393
Status : Answered
Chosen Option : 2

QE Eh dn A e i mapm oo Mo Tl e A S A &
R Rm IS A aE R AR A T s e I A
i #% feir #7
I & bag, the ratio of red balls to green balls is & 9, If 7 more red balls are added 1o the

bag, the ratio of red balls to green balls will become 5 ; 6. How many green balls are there
in the bag?
Ans X112
o227
X309

v 18

Cuestion 1D : 9864492665
Status : Not Answered
Chosen Option : -

Q.57 wralt 2018 3, Pt Wi Ao oF e S Mg s s sl 7
As of Febrary 2018, who is the coach of Fio Olympics sibver medal winner PV Sindns?

Ans
x 1 wr s
Vikram Bisht
2"
Pullela Gopichand

xsmrq@w

Prakash Padukone

Cuestion 1D ;9864492179
Status : Not Answered
Chosen Option ;-

Q.58 fif3qw ggiaw Felae & WA g O e fE d @ @ e gl
Which of the following gases 1s liberated when Sodium Hydrogen Carbonate is heated?

Ans
P Fa ISHFHRS
Carbon Dioxide
s Fa- AANifFaEe
Carbon Monoxide

CQuestion |0 : 9864493508
Status - Answered
Chosen Option ;2




HEEEC]
Hydrogen
FHiergrst=
‘Oxygen

N3

4

Q.59 vw #w #+ 20D # wfEw ¢ Fw & T i ooy oiew wEE

U Question 1D ;9864493304
A lens has a poser + 2,0 D, The type of lens and its focal length will be . L DEL LT
A Chosen Option : 1
s X1 Hade. —0.5 A
concave, —0.5 m
Ioddl, — 0.5 AT
> 2
convex, — 0.5 m
o Ioddl, 0.5 AT
convex, 0.5 m
Hadel. 0.5 AT
754
concave, 0.5m
Status : Answered
Chosen Option ;1
o C& NN
A B C D
Select the figure that does NOT belong in the following group.
o QN [
A B C D
Ans x 1 D
X2B
v3C
X4 A
Q.61 afy SPOON & 3 PLATE, PLATE & 3 BOWL, BOWL & 3 GLASS = .
T GLASS & 3% SPOON &, o o=h 957 & 2w s I9ur & = = el e
2 Status - Answered
If SPOON means PLATE, PLATE means BOWL, BOWL méans GLASS and GLASS Chosen Option -2
means SPOON, then what is used to drink water?
ans X 1 PLATE
X 2 GLASS
v © SPOON
X + BOWL
Q62 A & el A Frwer wAU gFd ® A 87 Question 1D : 9864494358
Which of the following words does NOT belong with the others? Status : Answered
Chosen Option ;2

Ans 2
X1

Shukra




v: T

Dharti

geEafa
Brihaspati
) oty
Shani

p

Q.63 2017 # g9 g TR F9 fr ATE Fa ¥ ofimd T A & On
Which Asian eity hosted the 2017 Men's Hockey Asia Cup?

Question 1D ;9864492280
Status : Not Answered
Chosen Option : -

Ans -
53 e
Singapore
5 2 e

Teheran

F
Tokyo

084 2017 # Ha§ & TR & T #F B T o 2

Who has been elected as the mayor of Mumbai in 2017?

Question 1D ;9864492437
Status : Not Answered
Chosen Option : -

Ans
X1 BT s
Smita Thackeray
, § T T
Sanjay Raut

x o 393 T
Uddhav Thackeray

| Teremamy mEReET
Vishwanath Mahadeshwar
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¥ food wmey wom & f A ofy b & 5w uw T 368 ¥ A i F Rt f
F7 Fm e i
A bag contains coins of denomination T 1, T 5 and ¥ 10. Assuming there are equal mumber

Question 1D : 9864493947
Status : Not Answered
Chosen Option ; =

of T1, 7 5 and T 10 codns, what will the total number of coins in tee bag be if the 1otal
money is T 3687

Ans X 1 QB
X265
X 356
v+ 69

Q.66 A 2018 ¥ FIF T=T ¥AT & wffeea HW FON HO0T (UEALE) &7
womer wie ARt B

‘Which Indian-American is the chairman of the prestigions Federal Communications
Commission (FCC) of the United States as of March 20187

Question 1D 9864492425
Status : Mot Answered
Chosen Option : -

Ans
x 1 AT T
Neomi Rao



x , T FH
Seema Verma
¥fe= 9%
© Ajit Pai
o, e st
Neil Chatterjee

v
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Cuestion 1D : 9864493852
Status : Not Answered
Chosen Option : -

forek:

1. W # Fufaat & fazw # aofot & a9 swew e Fa arfiee)
2, 59 WA F O & [ A o9 O o £ A ST

Consider the given statements to be true and decide which of the conclusions logically
follow(s) from the statements,

Statements:

Students passing from premier institutions such as IIM. IIT and [I5C get placed in foreign
countries and receive more salary than they received in India.

Conclosions:

1. Companies in India should pay the same salary as companies in foreign countries.
2. Students from these instinations should be barred from going to foreizn countries.

i K113ﬂ12aﬁf3@maﬂﬁ§
Both 1 and 2 follow
Far1 3R T & 2 AT FaT 7
v:
Neither 1 nor 2 follows
Fao oeey 1 HTHIOT FHIAT
X3 ¢
Only conclusion 1 follows
" e fFy 2 IFEOT HaT @
4
Only conclusion 2 follows
. +3= 7 Question 1D ; 9864493002
° ‘ Status : Mot Answered
i+f =0 Chosen Option @ --
T A
Ans 16
X1 aE
2 ‘I35
8
X3 E
8
X 4 E
0.69

Question 1D : 9864493932
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=

gt ofwmad & (28 |23
WeEET A
g
Taganidrat &
H=
i & 14 |12
EiET
it i &
Fee g A
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e

s & & 17
Tt A
At i &
et #
arer Faganfirat
#1 FEr
gt oftenst # (64 |55
FeATT F AT
Fagniinait &
e

& oi§ wfoh wET 10 & =7 A @ =9 B & fagmfiat @ faor S
¥ gl e st mw it wheme & B

afr B #F 2= ol (wiafiw A s F R FE A FR W A
Tt @ arE Trmniiat w afee ¥

Result Sectl | Secti
on A | on B
Total mumber of | 28 | 23
students who
failed in both the
CXHAME

Number of 14 12
students who
failed in the
mkdterm bat
passed in the
final exam
Number of & 17
students who
passed in the
mabdterm but
failed in the final
exam

Mumber of L] EE]
students who
passed in both
the exams

The given table provides the details of the number of students in Class 10, Section A am
B, who had taken their midierm and final exams.

The pass percentage of those Section B students who passed in at least one of the two
exams (midterm and final) is

Ans. XK 1.78.2
v 785
X378
X479

Q.70 areol & Al R Sk sk W A T A
m!m.a:ﬂ Ll et it Lt b Question 1D - 9864493434

Name the noble gas which is placed in the third period and eighth group of the Modem Status - Answered
Periodic Table. Chosen Option ;4

Ans o
.

Helium



>4
Krypton

O FETRE w7 ¥ B R & 59 #:1

Question 1D : 9864494309
Status : Answered
Chosen Option ;1

i [ome) = o] ot

1 2 ) 4 5
Select the odd figure out of the following series.

0| & |H | T

1 2 3 4 S
Ans O 4 2
X25
V4
X4

Q72 ofy firsl a5 1 ATH IO F WA & B O T S LA gEe it
THT W
It an object is placed at the centre of curvature of a concave mimor, then the image
forrmed will be:

Cuestion 1D : 9864493466
Status - Answered
Chosen Option : 3

e, 3T AR OR TR
virtual and diminished
v TEEE AR FA HER H
real and of the same size

3_mﬁ$3ﬂra?m¢$r

real and enlarged

4mnﬁr3ﬂ¢a$ma:r

virtual and enlarged

x

x

Q.TSW.KmYﬁmﬁm{atﬂmﬂﬂﬁflm#ﬁm##ﬁ‘r:ﬂr
o X & ol st e § X B foan & a0 O i

In the moming, X and % walk towards each other in a park. When they meet, Ys shadow
falls towards the left side of X, In which direction was X facing?

Cuestion |D : 9864493972
Status : Not Answered
Chosen Opfion : -

Ans v 3l
North



@ Eﬁ?-lgT & ;la' F g W g 3’7 Question 1D : 9864492104

Status : Not Answered
On the banks of which river is Jabalpur situated? Chosen Option >

Ans

Qs ' .
e ek Y 7 i AT S 15° 0 e &, i 30 e e anh g e e Question ID - 9864492474

Status : Not Answered
If the hour hand of a clock moves by 18° then by how muny degrees does the mmate hand

meove dirng the same time? Chosen Option : -

A %N 168
X 2276

X 3196

v i 216




